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1 |E 3= 305 305 100.0 355 355 100.0
2 (4 % 2,200 2,172 98.7 2,312 2,276 98.4
3 |F #* 1,292 1,255 97.1 1,340 1,301 97.1
4 [® it 2,183 2,183 100.0 1,883 1,883 100.0
5 |k H 839 839 100.0 997 997 100.0
6 |%& B 1,321 1,316 99.6 1,138 1,120 98.4
7 |F = 3,785 3,785 100.0 3,723 3,723 100.0
8 & = 419 419 100.0 518 518 100.0
9 |B§ Ed 4,187 4,187 100.0 4616 4616 100.0
10 |#& 3,555 3,364 94.6 3,657 3,507 95.9
11 [#r i 861 856 99.4 796 793 99.6
12 |2 7] 1,404 1,311 93.4 1,056 1,001 94.8
13 ;E LN 1,050 1,037 98.8 1,372 1,368 99.7
14 | R 2,069 2,058 99.5 2,199 2197 99.9
15 i} 770 770 100.0 896 896 100.0
16 | K i 4,020 4,020 100.0 3,992 3,992 100.0
17 (B8 [i] 5,025 5,025 100.0 6,035 5,542 9138
18 | % P 1,360 1,360 100.0 1,238 1,238 100.0
19(F0 #k W 2,436 2,436 100.0 2,169 2,169 100.0
20 (1L (=3 2,963 2,938 99.2 4,595 4546 98.9
21 |f# 1L 1,169 1,151 98.5 963 952 98.9
22 |dh = 1,523 1,523 100.0 1,596 1,596 100.0
23 |1l m] 1,644 1,599 97.3 1,659 1,634 98.5
24 | & ) 3,320 3,320 100.0 3,267 3,267 100.0
25 |& 1B 937 937 100.0 737 737 100.0
26 |1 DL 3,227 3,227 100.0 3,626 3,626 100.0
27 (M Gl 569 569 100.0 676 676 100.0
28 [ 5 2,530 2,508 99.1 2,393 2,350 98.2
29 (& X 2,556 2,556 100.0 2,304 2,304 100.0
30|E & U /\ 65 65 100.0 55 55 100.0
g = B 745 745 100.0 751 751 100.0
28 & = B 629 629 100.0 940 940 100.0
& it 60,958 60,465 99.2 63,854 62,926 985

500 K K £ 3,507 3473 99.0 3,730 3,623 97.1
I |400 ER LKL E 2,208 2,203 99.8 2,271 2,265 99.7
4 1300 BK L E 2,029 2,014 99.3 2,139 2,122 99.2

300 FE X i 765 753 98.4 782 773 98.9
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